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2. Make suitable assumptions wherever necessary. - -
3. Figures to the right indicate full marks.
SECTION-I
What do you mean by ideal transformer? Discuss ideal tean r with phasor and

sector diagram.

A 25 KVA, 3300 /240V, 50Hz transformer h igh voltge winding resistance of
0.1 © and a leakage reactance of 0.22 Q .The lo age winding resistance is

0.03 Q and the leakage reactance is 0, s the equivalent winding
resistance, reactance and impedance refer ¢\(i) the high voltage side and (ii)

the low voltage side

Explain various types of losses o
fonim

maximum efficiency of a trans
Draw the phasor and coi i0l

The useful full | e,6-pole,50Hz induction motor is 162.84 Nm.The
rotor emf is obse 90 cycles per minute. Calculate (i) Motor output (ii)
Cu loss in rotor (it) imput and (iv) efficiency if mechanical torque lost in
windage and frj i

Prove that tatig of r copper loss to rotor input give the slip of induction motor.
Write short notesion Scott Connection.

y three.

hole on Auto transformer.

raw explain equivalent circuit of induction motor.

ransformer rating in KVA? Discuss open circuit and short circuit on single
phase transformer.

iscuss construction and working principle of three phase induction motor.
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SECTION-I |

Explain different parts of dc generator with necessary figure. 06]

A shunt generator has a full load current of 186 A at 220V. The rotatjonal I¢
820 W and the shunt field coil resistance is 65 Q. If i it has a Full loaﬁ

86 %. Find the armature resistance. Also find the load current correspo
maximum efficiency

OR W v i
Discuss the characteristics of dc compound generator with nece 106]
A 6-pole DC generator has 150 slots. Each slot has 8 condu [06]
has resistance of 0.01 ohm. The armature terminal cur
current per conductor and the drop in armature fo wave winding
connections.
Discuss various methods of speed control for D tor. [06] g

Derive the armature and shaft torque equatio C. motor. Discuss significant of [05] ©

back emf.
OR

106}
105]

Why starter is required for DC motor?, in three point starter.

[12]
generator.

ave winding for d.c. machine.

With a neat skeeh cNylai commutation in a d.¢ machine.

\ ____END OF PAPER
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